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ENGLISH VERSION

Instructions : (1) On the basis of internal options give answers of
all questions.

(2) Right side figure indicate full marks of the
question.

(3) Draw the diagram wherever necessary.

1 Explain various methods of measuring national income. 14
OR
1 Discuss the causes of low growth rate of national income 14
in India.
2 Discuss the factors affecting aggregate demand. 14
OR
2 Discuss the factors determine the propensity to consume. 14

3 What is consumption function ? Explain the psychological 14
law of consumption given by Prof. Keynes.

OR
3 Explain the concept of multiplier and its process. 14
4  Explain the relationship between marginal efficiency of 14
capital and investment.
OR
4 Criticize abstinence theory of interest. 14
5 Write short notes : (any two) 14

(1) The definition of national income given by Prof. Fisher.
(2) The leakages of multiplier.

(3) The critically liquidity preference theory of interest of
Keynes.

(4) Employment multiplier.
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